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GRAMMAR TEST


A. Circle the best choice: a), b), c)  or d).


1. There ..........................be a park. Today there’s a large bank.


a) used  to  	 	 b) used  	 	 c) was  	 	 d) has been


2. Oh, you broke your sun-glasses. What............................ ?


a) did happen 		 b) happened 	 	 c) happens 	 	 d) happening


3. Has Sam come..................... ? - No, I’m still waiting for him.


a) yet 	 	 b) just 		 c) ever 		 d) soon


4. To be honest, I’m thinking ........................... talking to Alice in person.


a) off 	 	 	 b) on 	 	 	 c) of 	 	 	 d) about


5. The movie was so .................... , some people walked out of the cinema.


a) shocked 	 	 b) shock 	 	 c) shocking 	 	 d) shocks


6. The great white shark...................... in the Pacific Ocean last year.


a) argue 	 	 b) was seen 	 	 c) saw 		 d) has seen


7. I am tired of ......................... with them every day. It’s unnecessary!


a) argue 	 	 b) to argue 	 	 c) arguing 	 	 d) argued


8. How......................... is the fare? - It’s £95.


a) many 	 	 b) much 	 	 c) big 	 	 	 d) large


9. I have a plan. I................... surprise him.


a) am going 	 	 b) am going to 	 c) go to 	 	 d) am goes to


10. If he has the time, he ...................... you.


a) shall call 	 	 b) called 	 	 c) will call 	 	 d) will calls




B: Complete the text using one of the words below in each space. There are more words than spaces.


more	 later	 much	 than	 greater	 most	 to	 better            further


It is very common for people to consider themselves superior (1) ____________ animals, simply because we 
are the masters and they, in (2) _____________ cases, are under our control. This is not true, of course, of 
wild animals, which have (3) ______________ more freedom (4) _____________the average inhabitant of a 
big city. Our superiority is based on the fact that we posses reason and this gives us (5) ______________ 
control over ourselves and over nature.


C: Put the words of the questions in correct order




you climbing tried ever mountain Have?


friends what time you usually go At out with do your?



think of What do his new you laptop?



need much do we for the money How ticket ?



call me for London Why before you leave don’t you?




D: Read each sentence carefully. In each sentence there is a word which should not be there. Write the 
word on the line.


Example:	 There is so much to see in London than it is hard to make a choice.   Than


1. Most of the important sights are in the West End or in just across Waterloo Bridge. __________ 


2. Nearby you can also and visit the Hayward Gallery, an important venue for art exhibitions. _________ 


3. The restaurants in town are generally an expensive, especially in the evening.  __________ 


4. However, there are exceptions, and at lunchtime many of restaurants offer cheaper food. _________ 


5. Eating out in other contries around the world can to be very difficult. _______________ 


E:  Read the text and think of the word which best fits each space. Use only one word in each space.


The Internet continues (1)_____________ grow at about a rate of ten percent more users a year. It is 
believed that (2) ____________ 2010, there will be at least 100 million people (3) _________ the system. 
That means 100 million people (4) ____________ within seconds, be able to contact


(5)_______________other to get and share information anywhere in the world.




 KEY: 


A: 


1) a 2) b 3) a 4) d 5) c 6) b 7) c 8) b 9) b 10) c 


B: 


1) to 2) most 3) much 4) than 5) better 


C: 


1. Have you ever tried climbing mountain? 


2. At what time do you usually go out with your friends? 


3. What do you think of his new laptop? 


4. How much money do we need for the ticket? 


5. Why don’t you call me before you leave for London? 


D: 


1) in 2) and 3) an 4) of 5) to 


E: 


1) to 2) till/until/by 3) in 4) will 5) each


